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L. 'n mwn: validity of partially xnvi offering
a. nog. if at least a n'1 of the meat is MY, regardless of the status of the a9n, 07 is offered
i. 27 D7is accepted if, Tay>13, it was pIn
1.Challenge: it isn’t eaten
a) Answer: eating is dispensable
b) Challenge: v1 — noona >must be slaughtered for eaters
i. And: doubled wording (Yoan+noona) indicates that it is indispensable (229 21370 YYY Mw)
ii. And: 998 2% WR Deaters::members
c)Rather: 21 holds like jm "3 (who interprets 193R 785 wR as definition of w'& — must be able to eat)
i. Identifying: 11 '7’s statement
1.Possibility1: 31 (v2) teaches that all of 587w’ by could be included in 1 noa
a.Rejection: doesn’t mean no need for eating; rather, may be used by others if 1st nan left
2.Possibility2: 1 disagrees re: 2" group added on, they’re also noaa ¥y even if no n>1 for them
a. Rejection: same as above (if 1% group left, they could join)
b. Defense: wording shouldn’t focus on nTn P11 923 > 07 is the issue, not nYIR
d) 37: sees mwn as desideratum (=M "13) because wording pt 'R is pre-facto
i. Series of 21 tested against 11 ":
1. 7802292 if Mo'NW was proper but 77071 was for others — valid
a. 2”7 only — doesn’t consider n%aR
b. Rejection: even 1317 — no PY2R nawnn during np»r
2.2x177772 must be compos mentis throughout process (nonw =>7"n71)
a. Must be: 13121 only
b. Rejection: even jn1 "1 requires a competent n'9ya
3.3x177712: if offering became Rnv after No’NY, complete the offering without eating
a. Y58 7 only 1M1
b. 17 77 even 1327 — it is a case of RNV MNax
i. Question: why not eat meat?
ii. Answer: precaution against later year where the 7128 becomes &nv after 70t
iii. o5px will assume they may eat, just like this year when they ate in spite of nrm
ii. Alternate answer: 21 holds like >, who says that even noa (and 1) Xnv1v, if they did 77071 - n¥ 1N
II.  Other p’nar if either a n1 of a%9n (burnt) or 7w (eaten) is 1NV, 07 is offered
a) Authorship: must be yv171» 7, who ruled that if a m13 of either 9wa or ayn is left (1nv), we do 7"t
i)  But: %2791 o + % 291 mo1 don’t combine — except in 0%y
ii) And: nnin which accompanies the 127 — doesn’t get offered if any of it is xno
(1) 35m: counts — from v3
(2) P18 count — from end of v3 (anything which constitutes mn» n»)
(8) Justification: 29n — excludes mnmn
(a) And:mnn n1 —to expand to other PR (e.g. N9 Mw)
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